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Chapter 6 Project
Polygons in the Coordinate Plane
Each clue below describes a figure in the coordinate plane. Use graph paper to determine your answers. Some clues will refer you to another clue. So show your work on the graph paper provided and make sure to number your graphs!  No work… NO CREDIT!
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	Across
2. The vertices of a quadrilateral are (–1,1), (1, 2), (3, 1), and (–1, –1). What is the most specific name of this figure?
4. What is the angle classification of the triangle in 3 Down?
7. The consecutive sides in the figure in 9 Across are [image: image2.png]


.
9. A quadrilateral has vertices (0, 3), (2, 4), (4, –5), and (6, –4). What is the most specific name of this figure?
10. A parallelogram has vertices (–3, 4), (0, 3), (–1, 0), and (–4, 1). What is the most specific name of this figure?
	Down
1. A quadrilateral has vertices (0, 2), (2, 5), (4, 3), and (6, 6). What is the most specific name of this figure?
3. A triangle has vertices (–3, –2), (–1, 1), and (2, –1). Classify the triangle by side lengths.
5. In order for the figure in 2 Across to be isosceles, its diagonals would have to be [image: image3.png]


.
6. A rectangle’s vertices are A(–1, 2), B(4, 2), C(4, –2), and D(–1, –2). The point (1.5, 0) is the 
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 of 
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 and 
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.
8. A quadrilateral has the vertices (0, 1), (–5, 3), (–2, 6), and (–5, 6). What is the most specific name of this figure?
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Crossword Answers 





Work Provided:


#1 (1 Point)


#2 (1 Point)


#3 (1 Point)


#4 (1 Point)


#6 (1 Point)


#8 (1 Point)


#9 (1 Point)


#10 (1 Point)





Answer Only:


#5 (1 Point)





Total Possible: 9 Points





Your Score:
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